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Reasoning

Instructions
In the following question, select the related word from the given alternatives.

Question 1

A World : Encyclopedia
B Nation : History
C Place : Economy

D Country : Constitution
Answer: B
Explanation:
Expression = Person : Biography :: ?: ?
The course of a person's life is his biography, similarly, the course of a country is its history.
Thus, Nation : History
=>Ans - (B)
Question 2

Ramanujan : Mathematician : : Sushruta : ?

A Scientist
B Architect
C Physician

D Astronomer
Answer: C
Explanation:
Ramanujan was an Indian mathematician, similarly Sushruta was an ancient Indian physician.
=>Ans - (C)
Instructions
In the following question, select the related letters from the given alternatives.
Question 3

EKMR : VPNI : : SUWG : ?

A HQTD
B HMQT
C HDTQ

D HQDT

Answer: D
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Explanation:
Expression = EKMR : VPNI : : SUWG : ?

The pattern followed is that every letter is opposite to each other. But their positions are changed. Eg - The first two and last two letters
are written as it is, but the middle letters are written in reverse order.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

.. -l

ZYXWVUTSROQPONMLKIIHGFEDCRBA
Similarly, SUWG : HQDT

=> Ans - (D)
Question 4

MTBO : KRZM : : RUMD : ?

A PHKB

PHKA

(¢}

HPKA

o

PHBK

Answer: A

Explanation:
Expression = MTBO : KRZM :: RUMD : ?

The pattern followed is :

Ml T B o

-2 | 20 | 2) | (-2)
K R z I
Similarly, for ROMD : PHKB

R J M D

(2) | 20 | 2 | (-2)

P H K B
=>Ans - (A)

Instructions

In the following question, select the related number from the given alternatives.
Question 5

11:123::12:?

A 144

B 146

C 148

D 150

Answer: B
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Explanation:
Expression=11:123::12:?

The pattern followed is = (n)? + 2
Eg-(11)2+2 =123

Similarly, (12)? + 2 = 146
=>Ans - (B)

Question 6

108:11664::112:?

A 12504
B 12544
C 13644

D 17644
Answer: B
Explanation:
Expression =108:11664::112:7?
The pattern followed is = n : (n)?
Eg - (108)2 = 11664
Similarly, (112)% = 12544
=> Ans - (B)
Instructions
In the following question, select the odd word pair from the given alternatives.

Question 7

A Snakes : Reptiles

Buffalo : Mammal

C Kiwi:Bird

o

Parrot : Mammal

Answer: D

Explanation:
Snakes are classified as reptiles, buffalo is a mammal, and kiwi is a bird, but parrot is also a bird, hence it is the odd one out.

=> Ans - (D)

Question 8

A Writer : Pen

B Doctor: Chisel

C Plumber : Wrench

D Carpenter : Saw
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Answer: B

Explanation:
Second is one of the main tools used by first, a writer uses pen, plumber uses a wrench and saw is used by carpenter, but doctors do
not use a chisel, hence it is the odd one out.

=> Ans - (B)
Instructions
In the following question, select the odd letters from the given alternatives.

Question 9

A AD
B QS
C VX

D EG

Answer: A

Explanation:
(A): A (+3letters) =D

(B) : Q (+2 letters) =S
(C) : V (+2 letters) = X
(D) : E (+2 letters) = G
=>Ans - (A)

Question 10
A HJLN

B LNPR

C Suwy

D EGIJ

Answer: D

Explanation:
(A) : H (+2 letters) = J (+2 letters) = L (+2 letters) =N

(B) : L (+2 letters) = N (+2 letters) = P (+2 letters) = R
(C): S (+2 letters) = U (+2 letters) = W (+2 letters) = Y
(D) : E (+2 letters) = G (+2 letters) = | (+1 letter) = J

=> Ans - (D)

Instructions
In the following question, select the odd number pair from the given alternatives.

Question 11

A 24-6

B 48-12
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c 72-24

D 44-11

Answer: C

Explanation:
When we divide the first number by second, quotient is 4.

24
A):6 =4

48
®):12 = 4

72
(C):24 =3

44
(D):11 =14
=>Ans - (C)

Question 12

A 14-48
B 12-72
C 11-88

D 8-24

Answer: A

Explanation:
Apart from first option, second number is completely divided by first number.

48
(A): 14 = 3.42

72
B):12 =6
88
C):11 =8
24
D): 8 =3
=>Ans - (A)

Instructions
Arrange the given words in the sequence in which they occur in the dictionary.
Question 13

1. Nested
2. Nation
3. Nippon
4. Niger

5. Nappy

A 52143
B 52413
C 21543

D 25134

Answer: A

Explanation:
As per the order of dictionary,
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= Nappy -> Nation -> Nested -> Niger -> Nippon
= 52143
=>Ans - (A)

Question 14

1. Operate
2. Oyster
3. Oracle
4. Otis

5. Official

A 51324
B 53124
C 53142

D 51342

Answer: D

Explanation:
As per the order of dictionary,

= Official -> Operate -> Oracle -> Otis -> Oyster

= 51342

=>Ans - (D)

Instructions

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
Question 15

P,M,JG,?

D D

Answer: D

Explanation:
The pattern followed is :

P (-3 letters) =M
M (-3 letters) = J
J (-3 letters) = G
G (-3 letters) =D
=> Ans - (D)
Question 16

AA,DB,IC,PD,?
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A WF
B XE
C YE

D WE
Answer: C
Explanation:
Series : AA, DB, IC, PD, ?
The pattern followed in each letter of the terms is :
st letter : A (+3 letters) = D (+5 letters) = | (+7 letters) = P (+9 letters) = Y
2nd letter : A (+1 letter) = B (+1 letter) = C (+1 letter) = D (+1 letter) = E
Thus, missing term = YE

=>Ans - (C)

Instructions
In the following question, select the missing number from the given series.
Question 17

1,8,29,92,281,?

A 567
B 628
C 776

D 848

Answer: D
Explanation:
Numbers of the form (7 x 3™) are added, where n is whole number.
1+(7x3%=8
8+(7 x 31)=29
29 +(7 x 3%) =92
92 +(7 x 3%) =281
281 +(7 x 3*) = 848
=>Ans - (D)
Question 18

2,7,22,67,?

A 197
B 198

C 200
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p 202

Answer: D
Explanation:
Numbers of the form (5 x 3™) are added, where n is whole number.
2+(5x3%=7

74+(5 x 3Y) =22
22 +(5 x 3%) =67
67 +(5 x 3%) =202
=> Ans - (D)

Instructions
For the following questions answer them individually

Question 19

In a row of cars Maruti is 20th from the left end of row. Honda is 10th to the right from Maruti and is at the exact center of row. How
many cars are there in the row?

A 54
B 59
C 57

D 56

Answer: B

Explanation:
Position of Honda car from left (or from right as it is in the center) = 20 + 10 = 30th

=> Total number of cars = (30 + 30) — 1 = 59
=>Ans - (B)

Question 20

Abhinav started running from his house, he first ran for 12 km towards east, then he turned towards north and ran 16 km in that
direction. How far Abhinav is from his house and in which direction?

A 13 km South
B 13 km North
C 15km West

D 20 km North-East

Answer: D

Explanation:
Let Abhinav started from A and ran for 12 km towards east, then he turned towards north and ran 16 km in that direction to reach C.
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16 km

A 12km B
=> (AC)? = (AB)? + (BC)?
=> (AC)? = (12)% + (16)?
=> (AC)? = 144 + 256 = 400
=> AC = V400 = 20 km
.". Abhinav is 20 km from his house and in north-east direction.
=>Ans - (D)
Question 21

Kunal is elder to Rohit. Vivek is younger to Sushma, and Kunal is elder to Vivek. Who is the youngest?

A Sushma
B Rohit
C Vivek

D Cannot be determined

Answer: D

Explanation:
Kunal is elder to Rohit and also, Kunal is elder to Vivek, => Kunal > Rohit, Vivek

Vivek is younger to Sushma.

Thus, either Rohit or Vivek is the youngest, hence it cannot be determined.

=>Ans - (D)

Instructions

In the following question, select the word which cannot be formed using the letters of the given word.
Question 22

TRANSPORTED

A PORT
B SPORTS
C TRAP

D TREAT
Answer: B
Explanation:
The word TRANSPORTED does not contain two S's, thus the term Sports cannot be formed.

=>Ans - (B)
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Question 23
INSTALMENTS

A MEN

TALL
C STALE

D MENTAL

Answer: B

Explanation:
The word INSTALMENTS does not contain two L's, thus the term Tall cannot be formed.

=>Ans - (B)

Instructions
For the following questions answer them individually

Question 24

In a certain code language, "BANGED" is written as "JJKQCC" and "TILTS" is written as "XXOKU". How is "STRAY" written in that code
language?

A ZBSUT
B XZQSR
C EFUUS

D DEUVT

Answer: D

Explanation:
"BANGED" is written as "JJKQCC"

’11-24-3 1--‘%-5 +H
BANGETD

Il TKQCC
"TILTS" is written as "XXOKU"
#l+2+3 +445
T 1 S

XX 0K U
Similarly,
+1+2+3 +445
i Y
DEU
STRAY : DEUVT

=>Ans - (D)
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Question 25

In a certain code language, "GRAVYS" is written as "DUJVBY" and "BUTLTS" is written as "WXEVWO". How is "SPREAD" written in that
code language?

A URTGCF
B PMNBXA
C VSUHDG

D USVGDH

Answer: D

Explanation:
"GRAVYS" is written as "DUJVBY"

The numbers are shifted by a factor of +3 in the following pattern.

GRAVYS

"BUTLTS" is written as "WXEVWOQ"

BUT LTS

Similarly, SPREAD : USVGDH
SPREAD

UusvV GDH

=> Ans - (D)

Question 26

If "P" denotes "multiplied by", "Q" denotes "subtracted from", "S" denotes "added to" and "R" denotes "divided by", then which of the
following equation must be true?

A 7S56P2R28=11
B 36R6P2S4=19
C 64R8P3S6=72

D 36R9S4P2=14

Answer: A

Explanation:
(A):7S56P2R28=11

=74+56x2+28=11

56 %2
LHS.=7+4( 28 )
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=7T+4=11=RHS.
=>Ans - (A)
Question 27

If "@" denotes "added to", "8" denotes "subtracted from", "B" denotes "divided by" and "a" denotes "multiplied by", then
5169a70142=?

A 114
B 98
C 84

D 125

Answer: C
Explanation:
Expression:581869a76142=?
=5+1-9xT7+142
(1) = (9% 7) + 142
=5—63+142 =84
=>Ans - (C)
Question 28

If17 *36 =17 and 41 * 56 = 16, then 41 *32 =7

Answer: C
Explanation:
Given:17*36=17and 41 *56 =16
The number on the right is equal to the sum of digits of both the numbers on the left.
Eg-(1+7)+(3+6)=17
and(4+1)+(5+6) =16
Similarly, (4 +1) + (3 +2) =10
=>Ans - (C)

Question 29
1f1488=91and 18 $4=51,then21$9="?

A 160

B 155
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c 191

D 168

Answer: A

Explanation:
For the numbers of the form: 2 Sy = (z — 1) x (y — 1)

Eg:-(14—-1)x (8—1)=(13x7)=091

and (18 —1) x (4 —1) = (17 x 3) =51
Similarly, (21 — 1) x (9 — 1) = (20 x 8) = 160
=>Ans - (A)

Question 30

In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

3 5 2 B 9 3

D 4

Answer: C

Question 31

In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

3 4 2 6
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Answer: C

Question 32

How many triangles are there in the given figure ?

A 14
B 16
Cc 18
D 20
Answer: B
Explanation:
A B8
G i H
C D E F

Small triangles = ABI, BIE, DIE, AID, GCD, AGD, BEH, HEF

Triangles (containing 2 triangles) = ACD, BEF, ABD, ABE, ADE, BDE
Big triangles = ACE, BDF

Thus, total triangles = 16

=>Ans - (B)

Question 33

How many triangles are there in the given figure ?

A 18
B 24
C 26

D 28

Answer: C

Instructions

In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be



true even if they seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Question 34

Statements:

I. All cups are glasses.

Il. Some cups are pens.
Conclusions:

I. Some pens are cups.

Il. Some pens are glasses.
lll. Some pens are not cups.

A Only conclusion (1) and (lll) follow
B Only conclusion (Il) and (lIl) follow
C Only conclusion (1) and (11) follow

D All conclusions follow

Answer: C

Explanation:
The venn diagram for above statements is :

Qe

Conclusions:

|. Some pens are cups = true

Il. Some pens are glasses = true
Ill. Some pens are not cups = false

Thus, only conclusion (1) and (II) follow.

=>Ans - (C)

Question 35

Statements:

I. No cities are countries.

Il. No countries are villages.
Conclusions:

I. Some countries are city.
Il. No villages are city.

A Only conclusion (1) follows
B Only conclusion (Il) follows
C Both conclusion follow

D Neither conclusion (I) nor conclusion (I1) follows
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Answer: D

Explanation:
The venn diagram for above statements is :

Conclusions:
I. Some countries are city = false
Il. No villages are city = false

Thus, neither conclusion (I) nor conclusion (Il) follows.
=>Ans - (D)

Instructions
For the following questions answer them individually

Question 36

From the given options, which answer figure can be formed by folding the figure given in the question ?

a a0
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Answer: D
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Question 37

From the given options, which answer figure can be formed by folding the figure given in the question ?
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a7

P

Answer: D

Question 38

In the given figure, how many papers are also hard ?

Brown

Paper

Hard

A 14
B 23
c 37

D 32

Answer: B

Explanation:
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Brown

Hard

Papers that are also hard = 9 + 14 = 23

=> Ans - (B)

Question 39

Paper

In the given figure, how many keys are duplicate but not steel ?

Duplicate

Answer: C

Explanation:

37

Py

/43

i

Pis

19

32

Steel
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Duplicate 37 /43— Keys

16
18 19
32
Steel
Here, none of the duplicate keys are steel.
=>Ans - (C)
Question 40

In the given figure, how many leather bags are not red ?

Bag

. 43 \29\
35 \
21 \

4&—— Red

Leather

A 29
B 76
C 43

D 51

Answer: D

Explanation:
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Red

M

Leather

Leather bags which are not red = 51

=>Ans - (D)

Question 41

Which answer figure will complete the pattern in the question figure ?
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<
\

Answer: A

Explanation:
The question figure will be completed by :

R
o

=> Ans - (A)

Question 42

Which answer figure will complete the pattern in the question figure ?
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Answer: B

Explanation:

The bottom left part of the square is missing which contains arcs of three concentric circles, pointing at top right, also it contains two
black squares, hence last two options are eliminated.

Also, the two squares are in the middle arc, hence second option is correct image.

=> Ans - (B)
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Question 43

From the given answer figure, select the one in which the question figure is hidden/embedded.

T =
A

L o

r -
B

= ol
C

D None of these

Answer: A

Explanation:
The above figure is represented by 'red' color and is hidden in :
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B

=>Ans - (A)

Question 44

From the given answer figures, select the one in which the question figure is hidden/embedded.

B
=

|
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Answer: B

Explanation:
The above figure is represented by 'red' color and is hidden in :

o
w1/

=>Ans - (B)
Question 45

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will
appear when opened ?
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L
QT
Qo
g 1
g 1
QO
Question 46

A piece of paper is folded and punched as shown below in the question figures. From the given answer figure, indicate how it will
appear when opened ?

&
|
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| Aan
v
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Question 47

If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure ?
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Answer: C

Explanation:
A horizontal mirror is placed, so the object on the top will appear at the bottom in reverse position and vice-versa.

So the triangle at the top will now appear at the bottom facing towards top, thus the first and last options will be eliminated.

Also, in the question figure, the vertical lines are at top left side of triangle, hence they will appear at bottom left side, hence third option
is the right image.

=>Ans - (C)
Question 48

If a mirror is placed on the line AB, the which of the answer figures is the right image of the given figure ?
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Answer: C

Explanation:
A horizontal mirror is placed, so the object on the top will appear at the bottom in reverse position and vice-versa.

So the two triangles at bottom right corner will be reversed and appear at top right corner, hence third option is the right image.

Mirror image :

fd

=> Ans - (C)
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Question 49

A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as shown in the given two matrices. The column and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-1l are numbered from 5 to 9. A letter from these matrices can be represented first by its row
and next by its column, for example, 'T' can be represented by 03, 31 etc, and 'D' can be represented by 75, 87, etc. Similarly, you

have to identify the set for the word "GHOST".

Matrix-I

Matrix-II

1

2

6

7

blw( m| =|o
O 20 1m|©
m| = || 2|0

O m| - | |2

= | 0| m| Q| |W

—- | O|Z | m|& |~

0 (o | Ny U

wn | T (O | = |wv

T (= (> |un|O

>  Q|lwnn|=|x

= |>» | T|O|wn|w

Dlwn | = XT(>»|w

A 33,57,20,66,03
B 40,78,42,97,10
C 12,96,13,77,30

D 04,78,01,58,43

Answer: A

Explanation:

(A):33,57,20, 66,03 : GHOST

(B):40,78,42,97,10 : GHOAT

(©
(D)
=>Ans - (A)

:12,96,13,77,30 : GHOSN
:04,78,01, 58,43 : GHOSN
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Question 50

A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as shown in the given two matrices. The column and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-1l are numbered from 5 to 9. A letter from these matrices can be represented first by its row
and next by its column, for example, 'C' can be represented by 03, 31 etc, and 'O’ can be represented by 56, 58, etc. Similarly, you
have to identify the set for the word "BAKES".

Matrix-I Matrix-I1
1| 2 6|7

v (M@ | 0 | X | W
m| O |—= | C|X>» |00
O|» | C | m|—=|w

5
E
A
0
I
U

= N =0
e (R (Db Mo
b I O O e TR = = B = =
™| X (v | 2X | @
e B o o T - I e TR TR O -
W 00 | ] | h | un
T m|=- (O
- m | > |0 C

A 11, 65,03, 55,20
B 40,77,24,76,32
C 34,96,41,87,10

D 02,6 58,31,88,04

Answer: C

Explanation:
(A):11, 65,03, 55,20 : BAKER

(B) : 40,77,24,76,32 : BAKER

(C):34,96,41,87,10 : BAKES

)
(D): 02, 58,31, 88, 04 : BASOS

=>Ans - (C)

General Awareness

Instructions
For the following questions answer them individually

Question 51

Demand curve will shift forward, when _____

A Price of complementary good falls

B Price of substitute goods decreases
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¢ Income of the consumer falls

D Price of complement good increases

Answer: C

Question 52

What is the full form of NSDL?

A National Society Development Limited
B National Securities Depository Limited
C National Social Development Limited

D National Safety Development Limited

Answer: B

Question 53

If exports equal imports then, which of the following relations will be true?

A GDP=GNP
B GDP >GNP
C GDP <GNP

D None of these

Answer: A

Question 54

What is the minimum base rate fixed by RBI?

A 830%
B 825%
C 930%

D 10.00 %

Answer: C

Question 55

Who among the following gave the '‘Gandhian Plan' in 1944?

A D.D.Dhar
B S.N.Aggarwal

C M.N.Roy
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p J.P.Narayan

Answer: B

Question 56

Coup is .

A sudden overthrow of a government illegally
B a system of rules that taken effect when a military authority takes control of normal administration and justice
C territory under the immediate political control of another state

D All options are correct.

Answer: A

Question 57

—__goverment is better than other forms of government because it allows us to correct its own mistake.

A Democratic
B Monarchic
C Authoritarian

D Autocratic

Answer: A

Question 58

Which among the following describes Public Interest group?

A Organizations that promote interest of particular section of group
B Organisation that promote common interest
C A Struggle launched for resolution of a social problem

D Organisation that mobilizes people with a view to win political power

Answer: B

Question 59

Who was the chairman of the drafting committee of Indian Constitution?

A Lord Mountbatten
B Dr. Rajendra Prasad
C Dr.B. R. Ambedkar

D Pandit Jawaharlal Nehru

Answer: C
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Question 60

Which of the following fundamental right is given in Article 21?

A Right to property

Right to equality

(9]

Right to speech

o

Right to life

Answer: D

Question 61

Which among the following article states that there should be no discrimination on grounds of caste, religion, race, sex, place of
birth?

A Article 15
B Article 21
C Article 25

D Article 30

Answer: A

Question 62

Who among the following is constitutionally empowered to alter Scheduled Area?

A Supreme Court of India
B High Court of State
C Prime Minister of India

D President of India

Answer: D

Question 63

How is the President of India elected?

A Directly by public voting

By single transferrable vote

(¢}

By secondary voting system

o

All options are correct.

Answer: B
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Question 64

Who among the following has written the famous poem, 'Sarfaroshi ki Tamanna'?

A Bismil Azimabadi

Chandra Shekhar Azad

(9]

Ashfaqulla Khan

D Ram Prasad Bismil

Answer: A

Question 65

Which Governor General of India started the Postal Service in India?

A Lord Canning
B Lord Cornwallis
C Lord Dalhousie

D Lord Warren Hastings

Answer: D

Question 66

Who abolished Jizyah Tax?

A Jahangir
B Humayun
C Akbar

D Aurangzeb

Answer: C

Question 67

Arrange the following historical events in the chronological order of their occurrence.
I. Non-Cooperation Movement

I1. Civil Disobedience Movement

11l. Chauri - Chaura

A LI NI

[,

C I,

D 1,11

Answer: B
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Question 68

Which of the following pair is INCORRECT?

A Abul Fazal - Chief Advisor
B Faizi- Poet
C Birbal - Finance Minister

D All are correct

Answer: C

Question 69

In which of the following country the Kalahari desert is located?

A India

B Pakistan

C Botswana

D Kenya

Answer: C

Question 70

River Narmada originates from which place?

A Amarkantak

Himalayans

(9]

Brahamagiri

D Baralacha pass

Answer: A

Question 71

Where is Great Barrier Reef located?

A India
B Pakistan
C Australia

D South Africa

Answer: C

Question 72

Siachen glacier is located near to which of the following valley?
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A Nubra Valley

B Doon Valley
C Silent Valley

D Neelam Valley

Answer: A

Question 73

What is the name of grasslands of Southern Africa?

A Savannah
B Pampas
C Velds

D Prairies

Answer: C

Question 74

Where is urine stored in human body?

A Kidneys
B Urinary bladder
C Liver

D Nephron

Answer: B

Question 75

Potato is an example of

A Tuber
B Bulb
C Corms

D Rhizome

Answer: A

Question 76

Which of the following is the highest source of protein?
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A sun flower

B Soyabean
C Grams

D Wheat

Answer: B

Question 77

Endoplasmic Reticulum are rough because of present on their surface.

A Golgibodies
B Plastids
C Lysosomes

D Ribosomes

Answer: D

Question 78

Which of the following is not an example of an amphibian?

A Frog

B Seahorse

(¢]

Alligator

D Toad

Answer: B

Question 79

During hibernation state, frog respires by which of the following?

A Only heart
B Only lungs
C Only skin

D Both lungs and skin

Answer: C

Question 80

Action and reaction .

A always act on same body

B are equal in magnitude
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c arein same direction

D always act independently

Answer: B

Question 81

What is the distance between a crest and a consecutive trough in a transverse wave?

A Wavelength
B Amplitude
C Half of the wavelength

D Twice of wavelength

Answer: C

Question 82

Which is the most suitable unit for expressing nuclear radius?

A Micron
B Nanometer
C Fermi

D Angstrom

Answer: C

Question 83

Maxwell is the unit of which one of the following?

A Magnetic flux
B Permeability
C Magnetic susceptibility

D Intensity of magnetization

Answer: A

Question 84

Bar is located at top of Wordpad/Notepad.

A Format
B Menu
C Tool

D Title
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Answer: D

Question 85

Which among the following is not a Basic logical operator in Boolean Algebra laws?

A AND
B OR

C NOT

o

NAND

Answer: D

Question 86

Which of the following is not a characteristic of a solid?

A High compressibility

B High density

C Regular shape

D High rigidity
Answer: A

Question 87

What are the components of nucleus of an atom?

A Only Protons
B Protons and Neutrons
C Neutrons and Electrons

D Only Neutrons

Answer: B

Question 88

In Aqua Regia which two acids are mixed in ratio of 1: 3?

A Latex1
B Silver
C Latex3

D Latex4

Answer: A
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Question 89

What is the mass of one mole of a substance in grams is called?

A Nuclear Mass
B Atomic Mass
C Molar Mass

D Molecular Mass

Answer: D

Question 90

Which among the following is the habitat of 'Dog fish'?

A River
B Sea
C Lake

D Marsh

Answer: B

Question 91

In which of the following ecosystem, benthic zone is found?

A Fresh water ecosystem
B Salt water ecosystem
C Tundra Ecosystem

D Forest Ecosystem

Answer: B

Question 92

What was the main aim of Basel Convention?

A Protection of Ozone layer
B Bio-diversity Conservation
C Global Warming

D Climate Change

Answer: B

Question 93

Under 'Geo Mahatma Gandhi NREGA!' initiative, MNREGA has reached a milestone by geo tagging how many assets created under it?
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A 30 lakh

B 1 crore

C 2.8crore

D 3crore

Answer: B

Question 94

Who gave the 'Law of Gravitation'?

A Michael Faraday

B Guglielmo Marconi

C James Watt

D Isaac Newton

Answer: D

Question 95

Match the following.

Sport

Playing field

Baseball

Court

Cricket

Diamond

Tennis

Pitch

A 1-a2-¢3-b
B 1-b,2-¢3-a
C 1-b2-a,3-c
D 1-¢,2-a3-b

Answer: B

Question 96

Who among the following has been given honorary status among the seven wonders of the modern world?
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A Taj Mahal

B Great Pyramid of Giza
C Petra

D Colosseum

Answer: B

Question 97

Who among the following is a recipient of 2016 National Bravery Awards?

A Shivansh Singh
B Avinash singh
C Arjun Singh

D Kashish Dhanani

Answer: C

Question 98

Who authored the book 'Modi's Midas Touch in Foreign Policy'?

A Surendra Kumar
B Sunita Narayan
C P.S. Negi

D AnujDhar

Answer: A

Question 99

Which country has re-established diplomatic ties with Cuba after 37 years?

A Morocco
B Ghana
C Zimbabwe

D Sudan

Answer: A

Question 100

'TAPI' is a natural gas pipeline from Turkmenistan to India. It passes through
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A Afghanistan

B Pakistan

(9}

Both Afghanistan and Pakistan

D None of these

Answer: C

Quant

Instructions
For the following questions answer them individually

Question 101

411 4 412 4 413 4 41 js divisible by, .

B 14
c 17
D 9

Answer: C

Explanation:
Expression : 411 4 412 4 413 4 414

=4M(1 + 4 + 42 + 43)

=41 x (144416 +64)

=41 x (85)

*.» 85 is divisible by 17, hence the above expression is also divisible by 17

=>Ans - (C)

Question 102

(1.1)%4(0.7)°
What is the value of (1.1)*-1.1x0.7+(0.7)2?

A 04
B 0.7
c 11

D 1.8

Answer: D

Explanation:
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(1.1)°+(0.7)°
Expression = (1.1)*~1.1x0.7+(0.7)?

Letx =1.1andy = 0.7

Y
= 22 —zy+y?

(z+y)(«* —zy+v°)
= zr—zy+y?

=z4+y=11+07=138
=>Ans - (D)
Question 103

For what value of N, 270N will be a perfect square, where 270N is a 4 digit number??

Answer: C
Explanation:
Number = 270N
We know that (50)% = 2500 and (51)% = 2601
Thus, (52)% = 2704
=>N=4
=> Ans - (C)
Question 104

What least value should be added to 2505, so that it becomes a perfect square?

Answer: D
Explanation:
We know that (50)% = 2500
Thus, (50)? < 2505 < (51)?2
Also, (51)? = 2601
Thus, smallest number to be added = 2601 — 2505 = 96
=> Ans - (D)

Question 105

1 1 1 1 1
What is the value of 9993 + 9996 + 99912 + 99920 + 999307?
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1
A 9996

5
9996

1
49956

(¢}

4
49956

o

Answer: D

Explanation:
1 1 1 1 1
Expression:9993 + 9996 + 99912 + 99920 + 99930

= (999 + 999 + 999 + 999 + 999) - (3 + 6 + 12 + 20 + 30
(

20+10+5+3+2
- (4995) + (C 60

40
=4995 4+ 60
4
=49956
=> Ans - (D)
Question 106

A, B and C together can complete a work in 20 days. A and B together can complete the same work in 30 days. Then C alone can
complete the same work in how many days?

A 10
B 30
C 45
D 60
Answer: D
Explanation:
1 1
Work done by C alone = 20 — 30
3-2 1
= 60 = 60

1
.". Time taken by C alone = & = 60 days
=> Ans - (D)
Question 107

Vijay is 10% more efficient than Vikas. If Vikas can complete a piece of work in 33 days, then Vijay can complete the same work in
how many days?

Answer: C

Explanation:
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Let Vijay can complete the work in x days

Also, efficiency is inversely proportional to time taken, hence Vikas takes 10% more time than Vijay.

110
= X 100 = 33

10
=g =33 x 11 =30
.". Vijay can complete the same work in 30 days

=>Ans - (C)

Question 108

After giving 20% discount on an article there is a profit of 20%. What will be the profit percentage when no discount is given?

A 40

B 44

C 54

D 50
Answer: D

Explanation:
Let marked price = Rs. 100

Discount % = 20%

20
=> Selling price = 100 — (100 x 100)
=100 — 20 = Rs. 80

Also, profit % = 20%

80
=> Cost price = (100+20) x 100

2 200
=3 x 100 =Rs. 3

When no discount is given, => Selling price = Rs. 100

200 200
. Profit% = [(100 — 3 )+ ( 3 )] x 100
300200
= 200 x 100
100
=2 =50%
=> Ans - (D)

Question 109

The marked price of a cycle is Rs 5600. If two successive discounts of 10% and 15% are given, then what will be the selling price (in
Rs) of the cycle?

A 4284
B 4200
C 4214

D 4314

Answer: A
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Explanation:
Marked price = Rs. 5600

10
Selling price after first discount of 10% = 5600 — (100 x 5600)
=5600 — 560 = Rs. 5040

Similarly, selling price after second discount of 15% = 5040 — (11050 x 5040)
= 5040 — 756 = Rs. 4284

=>Ans - (A)

Question 110

If 2A = 3B = 5C, then whatis A: B : C?

C 6:10:15

D 15:10:6
Answer: D

Explanation:

Given:2A =3B =5C

Now, L.C.M. (2,3,5) = 30

=>A:B:C= (320):(3??):(350)

=15:10:6
=>Ans - (D)

Question 111

In what ratio wheat at Rs 32/kg should be mixed with wheat at Rs 24/kg so that on selling the mixture at Rs 39/kg there is a profit of
30%?

Answer: A

Explanation:
Selling price of mixture after 30% profit = Rs. 39/kg

=> Cost price of mixture = 39 x igg = Rs. 30 perkg

Let ratio in which wheat at Rs 32/kg should be mixed with wheat at Rs 24/kg= = : y
According to ques,

=> 32z + 24y = 30(z + y)

=> 32z + 24y = 30z + 30y
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=> 32z — 30z = 30y — 24y
=>2r = 6y

z 6 3
==y =2 =1
.". Ratio in which wheat at Rs 32/kg should be mixed with wheat at Rs 24/kg= 3:1
=>Ans - (A)
Question 112

The average runs scored by a batsman in 7 matches is 53 and in other 9 matches the average is 33. What is the average runs scored
by the batsman in 16 matches?

A 4175
B 44.25
CcC 47

D 49.175
Answer: A
Explanation:
Average runs scored by a batsman in 7 matches = 53
=> Total runs scored in 7 matches = 53 x 7 = 371

Similarly, total runs scored in 9 matches = 33 x 9 = 297

(371+297)
.". Average runs scored by the batsman in 16 matches = 16
668
= 16 =41.75
=>Ans - (A)

Question 113

The average marks obtained by 150 students in an examination is 40. If the average marks of passed students is 60 and that of the
failed students is 20, then what is the number of students who passed the examination?

D 100

Answer: C

Explanation:
Let the number of students who passed the examination = =

=> Number of students who failed = (150 — z)
Average marks of 150 students = 40

=> Total marks = 40 x 150 = 6000

Similarly, total marks scored by passed students = 60x
According to ques,

=> 60z + 20(150 — ) = 6000

=> 60z + 3000 — 20z = 6000
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=>40z = 6000 — 3000 = 3000

3000
=>xr= 40 =175

.". The number of students who passed the examination = 75

=> Ans - (C)

Question 114

A trader sold an article at a gain of 20%. Had he purchased it for 40% more and sold for Rs 24 less, then he would have incurred a
loss of 20%. What is the cost price (in Rs) of the article?

A 150
B 300
C 450

D 600

Answer: B

Explanation:
Let cost price of article = Rs. 100z

Profit % = 20%
20
=> Selling price = 100z + (100 x 100x)
=100z 4 20z = Rs. 120z
40
Now, new cost price = 100z + (100 x 100z)
=100z 4 40z = Rs. 140z

Also, new selling price = Rs. (120x — 24)
140z—(1202—24)

=>Loss % = 140z x 100 = 20
20z+24 20
=> Tx =5

=200 +24=4xTx
=> 28z — 20x = 24
24
=>r= 8 =3
.". Cost price = 100 x 3 = Rs. 300
=> Ans - (B)
Question 115

The cost price of a chair is 25% less than the cost price of a table. If a man sells 5 chairs at the cost price of 7 tables, then what is his
profit percentage?

A 3333
B 45
C 86.66

D 96

Answer: C
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Explanation:
Let cost price of a table =Rs. 100

25
=> Cost price of a chair = 100 — (100 x 100) = Rs. 75
Now, S.P. of 5 chairs = C.P. of 7 tables

7
=>S.P.of 1 chair=5 x 100 = Rs. 140

(140—75)
. Profit % = 75 x 100

=% _ 86.66%

=>Ans - (C)
Question 116

If the radius of a circle is decreased by 10%, then what will be the percentage decrease in the area of circle?

A 19
B 20
C 21

D 23

Answer: A

Explanation:
Let radius of circle= 7 = 10 cm

=> Area of circle = A = 7r? = 7(10)? = 1007 cm?

10
After decreasing the radius by 10%, => New radius = 7/ = 10 — (100 x 10) = 9cm

=> New area of circle = A’ = 7(9)? = 817 cm?
(10081
..Decreaseinarea= 100 x 100 = 19%

=>Ans - (A)

Question 117

If A is 50% more than B. B is how much percent less than A?

A 50

B 100
C 66.66
D 3333

Answer: D

Explanation:
Let B=10

50
=>A=10+ (100 x 10) =10+ 5 = 15

(15-10)
=>Required %= 15 x 100
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100

= 3 =33.33%
=> Ans - (D)
Question 118

A car travels 20% slower than a train. Both starts from point A at the same time and reach point B 240 km away at the same time. On
the way the train takes 48 minutes for stopping at the stations. What is the speed (in km/hr) of the car?

A 80
B 100
C 120
D 60

Answer: D

Explanation:
Let speed of train = 10z km/hr

80
=> Speed of car (20% slower) = 10x x 100 = 8z km/hr

Both take same time to travel 240 km, hence

240 240 48
=> 8z = 10z + 60

1 1 4
=>240 x (82 — 102) = 5
5-4 1
=> 40z = 300
=> 40z = 300
300

=>x = 40 =17.5

.".Speed of car = 8 x 7.5 = 60 km/hr
=> Ans - (D)

Question 119

A scooter runs at a speed of 49 km/hr after repairing and runs at 42 km/hr before repairing. It covers a certain distance in 7 hours
after repairing. How much time will it take to cover twice of the distance before repairing?

A 8 hours 10 mins
B 12 hours 20 mins
C 16 hours 20 mins

D 18 hours 30 mins

Answer: C

Explanation:
Speed after repairing = 49 km/hr and time taken = 7 hours

=> Distance covered after repairing = 49 x 7 = 343 km

) ) ) B 343x2 49
Time taken to cover twice of the distance before repairing= 42 = 3

1
= (16 + 3) hours
=16 hours 20 mins

=>Ans - (C)
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Question 120

What is the difference (in Rs) between compound interest and simple interest for 3 years on a principal of Rs 1000 at the rate of 20%
per annum?

A 64
B 120
C 128

D 136

Answer: C

Explanation:
Principal sum = Rs. 1000

Rate of interest = 20% and time period = 3 years

R PxRxT
Difference between compound interest and simple interest = P[(1 + 100)” — 1] — (100
20 1000x20x3
=1000[(1 + 100)® — 1] — (100 )
6

=1000[(5)? — 1] — (600)

216125
=1000 x (125 ) — 600
= (8 x 91) — 600
=728 — 600 = 128
=>Ans - (C)

Question 121

What will be the amount on Rs 25000 at the rate of 20% per annum compounded yearly for 4 years?

A 51840
B 50350
C 53550

D 48750

Answer: A

Explanation:
Principal sum = Rs. 25,000

Rate of interest = 20% and time period = 4 years
Amount after compound interest = P(1 + 100 )z
- 25000(1 + 100 )*

- 25000 x (5)*

=40 x 1296 = Rs. 51,840

=>Ans - (A)

Instructions

The table given below shows the production (in '000 tonnes) of five companies from 2012 to 2016.
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Year

Company| 2012 2013 2014 2015 2016
P 302 386 412 503 470
Q 376 402 A4 529 501
R 250 268 302 298 276
S 350 360 372 398 362
T 403 450 504 597 602

Question 122

What is the total production (in '000 tonnes) of company R from year 2012 to 2016 ?

A 1276
B 1444
C 1394

D 1502

Answer: C

Explanation:

Total production (in ‘000 tonnes) of company R from year 2012 to 2016

=250+ 268 +302+298+276=1394
=>Ans - (C)

Question 123

What is the average (in '000 tonnes) of total production all companies in year 2013?

A 371.1
B 3732
C 3784

D 3623

Answer: B

Explanation:

Total production (in ‘000 tonnes) of all companies in year 2013

=386 + 402 + 268 + 360 + 450 = 1866

1866
=>Required average= 5 = 373.2
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=>Ans - (B)
Question 124

Production of company R in year 2014 is how much percent more than the production of company R in year 2013?

A 12.68
B 11.56
C 14.42

D 15.31

Answer: A

Explanation:
Production of company R in year 2014 = 302

Production of company R in year 2013 = 268

(302—-268)
=>Required % = 268 X 100

34
=268 = 12.68%
=>Ans - (A)
Question 125

Production of all companies in year 2014 is how much percent less than the production of all companies in year 2015?

C 144

D 125

Answer: D

Explanation:
Production of all companies in year 2014

=412 + 444 + 302 + 372 + 504 = 2034
Production of all companies in year 2015

=503 + 529 + 298 + 398 + 597 = 2325

(2325—2034)
=> Required % = 2325 x 100

2914
- o3 =12.5%

=> Ans - (D)

Instructions
For the following questions answer them individually

Question 126

What is the length (in metres) of the longest rod that can be placed in a room which is 2 metres long, 2 metres broad and 6 metres
high?

A g
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32\/ﬁ
c 3v/11

D 10

Answer: B
Explanation:
Length = = 2 m, Breadth = b = 2 m and Height = A = 6 m
Length (in metres) of the longest rod that can be placed in the room is its diagonals.
=> Diagonal = d = V/I? + b? + h?
->d= /(2 +(2)? + (6)°
=>d=V4+4+36 =144
=>d=2V1lm

=> Ans - (B)

Question 127

If the height of a given cone became thrice and the radius of the base remains the same. What is the ratio of the volume of the given
cone and the volume of the second cone?

C 1:v3

D 1:27

Answer: A

Explanation:
Let radius of given cone = 7 and height = h

Height of new cone = 3h

1
Volume of cone = 37r2h
1

s7r2h
. . Lo, 1
Thus, required ratio = 37m?(3h) = 3
.". Ratio of the volume of the given cone and the volume of the second cone= 1:3
=>Ans - (A)
Question 128

If the angles of a triangle are (2x - 8) ¢, (2x + 18)°and 6x°. What is the value of 3x (in degrees)?

Answer: C

Explanation:
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Sum of angles of a triangle = 180°
=> (22 — 8)° + (2z + 18)° + (6x)° = 180°
=>10x + 10 = 180

=>10z = 180 — 10 = 170

170
=>gzr= 10 =17

S3r =3 x17 =251
=>Ans - (C)

Question 129

Two identical circles each of radius 2 cm interest each other such that the circumference of each one passes through the centre of
the other. What is the area (in cm2) of the intersecting region ?

8
A Y _2V3
B % _ /3
c ¥ _3

47
D 3 —2V3
Answer: A
Explanation:

In above diagram, AB = AC = BC = 2 cm, thus triangle ABC and triangle ABD are equilateral triangles.
=>/ DAC = / BAC + / DAB = 60° + 60° = 120°
Also, area of both sectors CBD and CAD are equal.

Now, area of enclosed region = 2 X ar(sector CAD) - 2 X ar(/\ CAB)SS

120° V3
= (2 x 360°7r2) — (2 x 4 7?)

SGraxa)— (% x4)
=T 23
=>Ans - (A)

Question 130

What is the volume (in cm 3) of a right pyramid of height 12 cm and having a square base whose diagonal is 62 cm?

A 864
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B 432
C 144

D 288

Answer: C

Explanation:

Height of pyramid = A = 12 cm and diagonal of base = d = 6v/2 cm
Let side of square base = scm

=> s>+ s = &

=>2g2 = (6\/5)2 =172

=>s2= 2 =36

.". Volume of pyramid = é X Area of base X Height

1
=3 x36x12=144cm?
=>Ans - (C)

Question 131

1
If 22 — 7z + 1 = 0, then what is the value of = + z?

C 51

D 47

Answer: A

Explanation:
Given:z2 — Tz +1=0

Dividing both sides by 'z’
1
=>x—T+2=0

1
=>r+az=7
=>Ans - (A)

Question 132

1
If 22 — 210z + 1 = 0, then what is the value of £ — z?

D 5

Answer: B
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Explanation:
Given:z2 —2v10z +1=0

Dividing both sides by 'z’
=+ alc = 2m

Squaring both sides, we get :
=22 1 2 4 2(2)(s) = 40
> a? + =40 — 2 = 38
= (2 — 2)2 4+ 2(2)(s) = 38
> (z—2)2=38—2 =236
= — alc — /36 =6
=>Ans - (B)

Question 133

3z—1  dy-1  7z-1 . 111
If =z + v + 2 =0,thenwhatisthevalueof = + vy + 2 ?

C 15

D 21

Answer: C

Explanation:
] 3z-1  %y-1 7,1
Given: 2z + v + = =0

B+ +(T— ) =0

11 o
S>z+y+2:=3+5+7
1 1 1
=>z+ v+ =15
=>Ans - (C)

Question 134

1
If 22 — 3z + 1 = 0, then what is the value of z%+ 11?

Answer: C

Explanation:
Given:z?2 -3z +1=0
Dividing both sides by 'z’

1
=>xr+ =3
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Squaring both sides, we get :
1 1
=22+ 22 +2(x)(z) =9
1
>4+ 2 =9-2=17
Again squaring both sides,
1 1
=zt + 2t + 2(2?)(22) = 49
1
=zt 4t =49 -2=47
=> Ans - (C)

Question 135

(aerbZ)(afb)f(afb)2
What is the value of a’b—ab? ?

Answer: D

Explanation:
(a’+b%)(a—b)—(a—b)’
Expression : a’b—ab?

(a—b)[(a*+b*)—(a—b)]
= (ab)(a—b)
(a*4+b%)—(a—b)
= ab

(a—b)*+2ab—(a—b)
= ab
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Question 136

In the given figure, O is the center of the circle, Z/PQR =100° and ZSTR = 105°. What is the value (in degrees) of Z0SP?

P N\aQ

O

A 95
B 45
CcC 75

D 65

Answer: D

Explanation:
Given: Z/PQR =100° and ZSTR = 105°

Tofind: ZOSP =7

Solution : Quadrilateral PQRS is cyclic quadrilateral, hence opposite angles are supplementary.
=>/ PQR+ £ PSR = 180°

=>/ PSR =180° — 100° = 80° —-——- (i)

Also, angle at the centre is double the angle at any point on the circumference of the circle in the same segment.
=>reflex (£ SOR) =2 x £ STR

=> reflex (£ SOR) =2 x 105° = 210°

Thus, Z SOR = 360° — 210° = 150°

Now, in /A SOR, OS = OR = radius

=>/ OSR = Z ORS = 15° (i)

Subtracting equation (i) from (i), we get :

.. £ 0SP=80° — 15° = 65°

=> Ans - (D)
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Question 137

In the given figure, EF = CE = CA, What is the value (in degrees) of ZEAC?

D

96° 4

Answer: B

Explanation:

Given:EF =CE =CA
=>/ CAE= /CEA=xand LECF=/ZEFC=y
Tofind: ZEAC =2 =7

Solution : Using exterior angle property, => / CAE + £ CFE = £ ACD
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Substituting it in equation (i), => 2y + y = 3y = 96°
96

=>y= 3 = 32°

S =2 X 32 =64°

=> Ans - (B)

Question 138

If length of each side of a rhombus ABCD is 16 cm and ZABC = 120 °, then what is the length (in cm) of BD?

A 24
B 12
C 16

D 14V3

Answer: C

Explanation:

AN
N

B
Given:BC =16 cmand £ ABC = 120°

Diagonals of a rhombus bisect each others at right angle.
1

Thus, Z 0BC =2 x 120° = 60°

In /A OBC,

=> cos(£LOBC) = Bo

OB

=>c0s(60°) = 16
1 OB
=>2 = 16

=> 0B = 126 =8cm
o.BD=2x 8 =16cm
=>Ans - (C)

Question 139

In an isosceles triangle PQR, ZP = 130 °. If | is the in-centre of the triangle, then what is the value (in degrees) of ZQIR?

A 130
B 120

C 155
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p 165

Answer: C
Explanation:
P
-
A
Q R

Given : | is the incentre of /A PQR and / BAC = 130°
Tofind: ZQIR=60=2?

/P
Incentre of a triangle = 90° + 2

S0=00°+ 3
=>60 = 90° 4 65°
=> 0 = 155°
=>Ans - (C)

Question 140

In the given figure, O is the centre of a circle of radius 13 cm and AB is a chord perpendicular to OD. if CD = 8 cm, then what is the
length (in cm) of AB?

- SR
# .'""H

v
<
-'I
A

A 6cm

B 12cm

C 24cm
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D 28cm

Answer: C

Explanation:

N

AN ¢
Given : OB is the radius of circle=13cmand OC=0D-CD= 13 — 8 = 5cm
Tofind: AB=7?
Solution : The line from the centre of the circle to the chord bisects it at right angle.
=>AC=BC= % AB
In /A OBC,
=> (BC)? = (OB)? — (OC)?
=>(BC)? = (13)* - (5)°
=>(BC)? =169 — 25 = 144
=> BC = V144 = 12¢cm
.AB=2xBC
=2x12=24cm
=>Ans - (C)

Question 141

2 . 15sin20—3cos*0
Iftan 0= 3 ,then whatis the value of 5sin20+3cos?6 ?

A 3
B 19
c i
D 3
Answer: C
Explanation:

2
Given:tan 0 = 3

sin 6 2
=>cosf — 3

Let sin @ = 2 and cos 0 = 3

15sin*0—3cos*0
To find: 5sin26+3cos%0

15(2)%—3(3)?
= 5(2)2+3(3)2
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6027
= 20427

33
=47

=>Ans - (C)
Question 142

If V5 tan © = 5 sin ©, then what is the value of (sin 2 © - cos?0)?

A 3/5
B 1/5
C 4/5

D 2/5

Answer: A

Explanation:
Given : V5tan 0 = 5sin 0

sin 0
=> cos = Vgsin %)

1
=>c0s0 = 5

2 ! .

=>08° 0 = 5 (i)
Now, sin2 6 =1 — cos? 6

) 1 4 3
=>sm’f=1—5 =5~ (ii)
Subtracting equation (i) from (i), we get :

4 1 3

o (sin?0—cos’0) =5 —5 =5
=> Ans - (A)
Question 143

7 3
What is the simplified value of sec2d + 1+cot?6 + 4 sin%6?

D 7

Answer: D

Explanation:

Expression : se;e + 1+030t29 + 4 sin%0
=708 0+ cosee? 0 + 4sin? 0
=Tcos® 0 + 3sin® 0 + 4sin? 0
=Tcos® 0 + Tsin? 0

=7(cos? 0 + sin? 0)

=7Tx1="7

=> Ans - (D)
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Question 144

Two posts are 4 m apart. Both posts are on same side of a tree. If the angles of depressions of these posts when observed from the
top of the tree are 45° and 60° respectively, then what is the height of the tree?

A V341

B V3(v3+1)
C 2v3(v3+1)
D 4V3(v3+1)

Answer: C

Explanation:

s0* 45
D = B 4m A

Given:CD isthetreeand AB=4m
To find : Height of tree = A =?

Solution : In /A ACD,

CD
=>tan(45°) = AD

h
=1 = z+4

Again, in /A BCD,

CD
=>tan(60°) = DB

:>\/§: ;L
=>h:IL'\/§
=>h = (h—4)V3 [Using ()]
:>h: h\/§—4\/§
=>h(V3-1)=4V3

4v3
=>h = v3-1

Rationalizing the denominator, we get :

43  (V3+1)
=>h = v3-1 x (V3+1)
4V3(v/341)
=> h = (371)

=>h =2V3(V3 4 1)

=>Ans - (C)


https://cracku.in

Question 145

If cosec © + 3 sec O = 5 cosec 0, then what is the value of cot 6?

A 4/3

B 3/4

(9]

1/V3

D V3

Answer: B
Explanation:
Given : cosec + 3sec = 5cosecl
=> 3secl = 5cosech — cosecl

=> 3secl = 4cosech

3 4
=> cos = sinf
cosf 3
=> ginf — 4

3
=> coth = 4
=> Ans - (B)

Instructions

The given pie chart shows the runs scored by 5 players in a match.

Sharma Pujara
b8 76

Dhoni
v

Yuvraj
82

Question 146

The runs scored by Kohli are how much percent more than the runs scored by Sharma?

A 100
B 33.33

C 66.66
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D 50
Answer: D

Explanation:
Runs scored by Kohli = 102

Runs scored by Sharma = 68

(102-68)
=>Required %= 68  x 100
3400
= 68 = 50%
=> Ans - (D)

Question 147

Runs scored by Kohli is what percent of runs scored by Yuvraj?

A 124.39
B 134.21
C 113.13

D 126.67

Answer: A

Explanation:
Runs scored by Kohli = 102

Runs scored by Yuvraj = 82

102
=>Required % = 82 x 100

5100
= 41 = 124.39%
=>Ans - (A)

Question 148

Runs scored by Pujara is what percent of total runs scored by these 5 players?

A 25

B 30

Answer: C

Explanation:
Runs scored by Pujara = 76

Runs scored by these five players = 76 + 82 + 102 + 52 + 68 = 380

76
=> Required % = 380 x 100

100
= 5 =20%

=>Ans - (C)
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Question 149

What is the central angle (in degrees) made by the sector of runs scored by Yuvraj?

A 77.68

74.64

(9]

7212

o

79.34

Answer: A

Explanation:
Runs scored by Yuvraj = 82
Runs scored by these five players = 76 + 82 + 102 + 52 + 68 = 380
82
=> Central angle (in degrees) made by the sector of runs scored by Yuvraj = 380 X 360° = 77.68°

=>Ans - (A)

Question 150

If runs scored by Rahane is 50% of the runs scored by Yuvraj, then runs scored by Rahane is what percent of total runs scored by
Kohli, Pujara and Dhoni?

A 16.41

17.82

(9}

18.92

o

16.31

Answer: B

Explanation:
Runs scored by Yuvraj = 82

50
=> Runs scored by Rahane = 100 x 82 = 41
Also, total runs scored by Kohli, Pujara and Dhoni = 102 + 76 + 52 = 230
41
=> Required % = 230 x 100 = 17.82%
=>Ans - (B)

English
Instructions

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the
appropriate option. If a sentence is free from error, select ‘No Error'.

Question 151

Mr. Mukesh Bhatnagar our (a:/ colleague he will attend (b:/ the meeting on our behalf. (c:/ No Error (d:

A 4


https://cracku.in

D 4

Answer: B

Question 152

As soon as | will reach (a:/ Delhi | will send you (b:/ the books you have asked for. (c:/ No Error (d:

D 4

Answer: A

Question 153

As | see it, he appears (a:/ to be unreasonable anxious (b:/ about pleasing his wife. (c:/ No Error (d:

D 4

Answer: B

Question 154

| finished my assignment before we (a:/ reached his wedding with great (b:/ difficulty because of heavy traffic. (c:/ No Error (d:

D 4

Answer: A

Question 155

We were living (a:/ in Canada for (b:/ around eight years. (c:/ No Error (d:
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c 3
D 4

Answer: A

Instructions

In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the
four and indicate it by selecting the appropriate option.

Question 156

Because of the bad weather we had to stay the hotel.

B off
C above

D on

Answer: A

Question 157

You should comply ___ my request.

B off
C with

D on

Answer: C

Question 158

Suresh has joineda____ course.

A twoyear's
B two years
C two year

D oneyears

Answer: C

Question 159

A Very little
B Alittle

C Little
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p Thelittle

Answer: D

Question 160

Itis that those who expect clemency from others are seldom merciful themselves.

A paradoxical
B strange
C stupid

D repulsive

Answer: A

Instructions
In the following question, out of the four alternatives, select the word similar in meaning to the word given.
Question 161

Ineluctable

A conquerable
B irremovable
C achievable

D surmountable

Answer: B

Question 162

Inimical

A untidy
B harmful
C funny

D trial

Answer: B
Question 163

Nugatory

A futile
B rupture

C rough

o

tardy
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Answer: A

Question 164

Spruce

A lethargy
B smart
C deserving

D eager

Answer: B

Question 165
Moribund

A chaos

conclusive
C virtue

D dying

Answer: D

Instructions
In the following question, out of the four alternatives, select the word opposite in meaning to the word given.
Question 166

lllustrious

A doubtful
B sophisticated
C stormy

D obscure

Answer: D

Question 167

Impudent

A anxious
B polite

C cautious
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p reckless

Answer: B

Question 168

Palatial

A partial
B poor
C infertile

D lean

Answer: B

Question 169

Pernicious

A wicked
B hinder
C kind

D ignorant

Answer: C

Question 170

Zany

A serious
B constant
C nadir

D separate

Answer: A

Instructions

In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.
Question 171

Chicken hearted

A Scholar
B A useless man
C Timid

D Shocked
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Answer: C

Question 172

Down and out

A Mad
B Jealousy and Envy
C Futility

D Without money

Answer: D

Question 173

High and Low

A Everywhere
B Optimism
C Hypocrisy

D Experience

Answer: A

Question 174

A damsel in distress

A A helpless woman
B Anugly woman
C A woman whose husband is temporarily away from her

D A strong lady who can cope with all difficult situations easily

Answer: A

Question 175

God's ape

A As strong as god

B Aborn fool

C Aknowledgeable person

D Kind hearted person

Answer: B
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Instructions
Improve the bracketed part of the sentence.
Question 176

Since 2009, there (is) no cyclone there.

A are
B hasbeen
C were been

D noimprovement

Answer: B

Question 177

Nisha probably (would have caught) up the bus by now.

A must have caught
B will catch
C shall have caught

D noimprovement

Answer: D

Question 178

Right knowledge is a (strong) instrument for moulding the character of the young.

A powerful

B potent

(¢}

striking

D noimprovement

Answer: A

Question 179

Mr. Clarke (had staying) here since 2005 and has made India his home.

A was to stay
B is staying
C has been staying

D noimprovement
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Answer: C

Question 180

My sister said that it sometimes took her one hour to (put) her make-up.

A putup
B puton
C putover

D noimprovement

Answer: B

Instructions
In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.
Question 181

Ceremony of crowning a king

A catharsis
B purgation
C cannibal

D coronation

Answer: D

Question 182

Substitution of a mild for a very blunt expression

A euphemism
B truism
C hymn

D calumny

Answer: A

Question 183

Belief that war and violence are unjustified

A philistine
B pacifism
C iconoclastic

D sanatorium

Answer: B
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Question 184

One who goes for a secret official mission

A epicurean
B emissary
C celibate

D rogue

Answer: B

Question 185

Centre of attraction

A hedonist
B cynosure
C debauch

D epicure

Answer: B

Question 186

A architecture
B appropriate
C appreciation

D arithmatic

Answer: D

Instructions
In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Question 187

A equillibrium
B auxiliary
C battalion

D differentiate

Answer: A
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Question 188

A exasparation
B exaggeration
C eradication

D equivocation

Answer: A

Question 189

A intelligence

identically
C inflameble

D immediately

Answer: C

Question 190

A janitor

ordinarily

(9}

insobreity

D psychometric

Answer: C

Instructions

In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Our constitution is named , because it is in the hands not of the but of the many. But our laws secure equal for all in
their private disputes and our public opinion welcomes and talents in every branch of achievement. And as we give free play to
_____inour public life, so we carry the same spirit into our daily relation with one another.

Question 191

Our constitution is named , because

A democracy
B aristocracy
C plutocracy

D theocracy

Answer: A


https://cracku.in

Question 192

it is in the hands not of the but of the many.

A liberals
B little

C few

o

people

Answer: C

Question 193

But our laws secure equal for all their

A remuneration

justice
C rights

D power

Answer: B

Question 194

public opinion welcomes and ____ talents in every branch

A humiliate

judge

(9]

negotiate

D honours

Answer: D

Question 195

And as we give free play to in our public life,

A some
B all
C few

D little

Answer: B

Instructions

A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.
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Corruption is not a uniquely Indian phenomenon. It is witnessed all over the world in developing as well as developed countries. It has
spread its tentacles in every sphere of life, namely business administration, politics, officialdom, and services. In fact, there is hardly
any sector which can be characterised for not being infected with the vices of corruption. Corruption is rampant in every segment and
every section of society, barring the social status attached to it. Nobody can be considered free from corruption from a high ranking
officer.

To root out the evil of corruption from society, we need to make a comprehensive code of conduct for politicians, legislatures,
bureaucrats, and such code should be strictly enforced. Judiciary should be given more independence and initiatives on issues related
to corruption. Special courts should be set-up to take up such issues and speedy trial is to be promoted. Law and order machinery
should be allowed to work without political interference. NGOs and media should come forward to create awareness against corruption
in society and educate people to combat this evil. Only then we would be able to save our system from being collapsed.

Question 196

According to the passage where does corruption has spread its tentacles?

A officialdom
B politics
C business administration

D All of these

Answer: D

Question 197

What kind of status is being barred by the corruption?

A social
B economic
C mental

D physical

Answer: A

Question 198

According to the passage, who is free from corruption?

A high ranking officers
B politicians
C bureaucrats

D None of these

Answer: D

Question 199

Which of the following measure is not mentioned in the passage to root out the evil of corruption from society?

A private sector should create awareness against corruption

B media should come forward to create awareness and educate people to combat this evil
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¢ Judiciary to be given more independence and initiative in relation to corruption

D comprehensive code of conduct for politicians, legislature and bureaucrats

Answer: A

Question 200

According to the passage, which of the following is INCORRECT?

A corruption is prevalent only in developing countries
B corruption is rampant in every segment and section of society
C to combat corruption, law and order should be allowed to work without political interference

D corruption is not a uniquely Indian phenomena

Answer: A
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